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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 51/AS/3-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

AR AANDW ¢ conta..

—



T 3T

1.

2.

51/AS,/3-215-A ]

Thenefl YT RS U W SAUAT SThHIG 3TEvd ford |

FIAT YIS HT S o o T F Fot Je31 91 Y H1 Sq1 € GEA § T gom g F G
IR DU T | 59 o1 w1 S off A Tom g wiHew w0 A €

TS T H e IR fawed (A), (B), (O) a1 (D) H ¥ W TR IW AN T a0 &
SW-Yfedent § 3119 Wal W fafau

TS Tl o WY-T qft gl o W eifa srafy ot @ < ) g wel & fore sterm
Q g9 T8l e S|

SW-YREaew1 ¥ qeam-Tag oM stuer Hfde Tl & sifafea #al off st forem o aemeff

T STIT I ST |

SO IT-Yfeden W Y3793 &1 wie g 51/ AS/3-A fag |

() ;Wéﬁa%ﬁ/aﬁﬁﬁ%l TR off, afe o1mg =1 @1 = <1 718 fordl T 9T § WS FeRd
sfirsh, &, <<, WS, ofen, qffie, oo, wete, O, ANET, Stedn, TeRid, hishon,
TfoTq, STfen, AuTelt, HYHR, WEhd R 5t |
F9a1 SW-Yeqesnt # fou 7 ofww # ford fof o forg o & s faw @ ¥

(@) Ffe o119 &t wa AUst & Afafem fordt o= wmon § So) for@d & o1 999 61 99e@ | 8F o

Il /Tt st SR haa STeht R |

N

AR AANDW ¢ conta..



BUSINESS STUDIES
( SFTTAT—IeR 3799 )

(215)

Time : 3 Hours | [ Maximum Marks : 100
9 : 3 HUe ] [ qurie : 100
Note : (i)  All questions are compulsory.

(i) Marks allotted for each question are indicated against it.
fdor: () |l v erfEr €
(i) IF YT F ik IHH WA T M

1.  Extraction of timber from forests is an example of : 1
(A) Primary Industry (B) Genetic Industry
(C) Extractive Industry (D) Manufacturing Industry
T A AFE! H1 FTHuor SR §
(A) TS I A (B) SHITent JEWT I
(C)  Trrsehefor e =1 (D) fmfor 32w &
2. Minimum numbers required to form a public company is : 1
GrsIfeh HUAT & TS o AU STavdes A0 HeHl i G ¥
(A) 2 B) 7 (© 10 (D) 20
3.  Members of Joint Hindu Family are known as : 1
(A) Owners (B) Coparceners
(C) Partners (D) Shareholders
ggx feg TRaR & w8 Fgam ¢
(A) @t (B) TRl
(C) WEER (D) i¥-4h
4.  In which of the following forms of organisation liability of the members is unlimited ? 1
(A) Private Company (B) Partnership
(C) Public Company (D) Cooperative Society
=1 & § 9eq & ford @&y § U&=l 1 i STifid 2 € 2
(A) Tosit st (B) WRERERI
(C) WES® ot (D) Hehrl |fufa
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5.  Which is not an advantage of rail transport ? 1
(A) It is relatively faster than road transport
(B) It is suitable for carrying heavy goods in large quantities over long distance
(C) Itis a flexible mode of transport
(D) It is a convenient mode of transport for travelling long distances.

I YA~ AT HT AT &l @ 2

(A) IE HSH I i gl | sTfersk Sisemt 7

(B) IE WRI WM AT SAGT A H TIHH I el QT Th o ST & folT ST AIEA T
(C) I IRae &1 a=ien dIeA
(

)
D) st g &t A & T T e stfass giaume weE 2

6. Amogh, a businessman got his godown insured against fire for X one lakh. One day 1
fire took place and goods of the value of ¥ 80000 were destroyed. Amogh put up the
claim to the insurance company for < 1 lakh. Insurance company did not accept the
claim for 1 lakh but accepted it for ¥ 80000. Under which principle of insurance,
Insurance Company took the decision ?

(A) Utmost Good faith (B) Insurable Interest

(C) Indemnity (D) Contribution

3TV, ST T SR €, 7 379 TG 1 1 A 1 A o1 H3a | T T S8 310 o T8
3R T 80000 % T T WA T &1 AT | ST 3 STHT o1 & I8 T 1 ARG 1 <1 991 feha |
S| SOl A X 1 R 1 el TWihR e fRan wifer ¥ 80000 w1 < HMAT ST % foRw
fagra & TuR st St | g fofa ferm 2

(A) ot wferamd (B) i Amafea
(C) afayfd (D) AT
7.  Newspapers are suitable for advertising : 1

(A) Products required by target customers

(B) Agricultural products meant for farmers

(C) Consumer goods designed for general public
(D) Products that require live demonstration

g 93 57 fomme & fau suga S ag ®
(A) AT ST = i AR THT

(B) Twami & faw iy da 3o

(C) S WTHRT & fau TOR SueR a&qe

(D) oY S Teaet YuM Y STravashal Bt §
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8.  State Commission has the jurisdiction to deal with all complaints where the value of 1
goods or the compensation claimed does not exceed :

(A) %10 lakh (B) < 20 lakh (C) R 50 lakh (D) R One crore
T SATAN 37 HHEA! 1 (IR 2 Fohal © 5 asgell 1 Joa/qatast = 9 aifysw &1

BIAIE
(A) %10 9@ (B) ¥ 20 @@ (C) T 50 @@ (D) T & &S

9.  Career Path means : 1
(A) Work done in different job positions
(B) Way adopted for career
(C) Getting a job title
(D) Getting Professional degree
Stiferent Amt w1 a1ef %

(A) fafq= uei W % T

(B) Sfifaeht o ferw svaeman e ari
(C) =H =t UMY 9T HLAT

(D) TR feult o &

10. Which is not a quality of a successful entrepreneur ? 1
(A) Motivation (B) Willingness to assume risk
(C) Decision making ability (D) Lack of self confidence
SHITHT Teh Thel SEHT T 07 TE & ?
(A)  SAFTITOm (B) SIIfEH o™ o 3=
(C) Tfa &= =t Araar (D) 3T faeame st
11. Explain the following in reference to E-Commerce : 3
(a) B2B (b) B2C
3-hd & e H fefeiEd w1 THeEy
(a) B2B (by B2C
12. Explain the term “profession’ giving any two examples. 3

9T 9155 1 SATEAT HITT 38H <1 30 ot |
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13. State the effect of non-registration of a partnership firm. 3

TIHSH TH T TSR0 7 HIH o GHWTE] T Seeiid SIS |

14. Farmers of nearby villages growing vegetables want to pool their products and carry 3
them to a nearby big city vegetable market. Which mode of transport will be more
suitable ? Explain by giving three advantages of this mode of transport.

I UG & el & fordM S Hosll S €, 79 Scarel bl Tehisd Y Toieieh & oS el i
Goofl Het W o ST =Ted €, UREs 1 i |ied s Suge Wil afieed & 39 91eF &
g dH MY T 3Y FHSRT |

15. Explain the following tools of sales promotion : 3
(a) Free samples

(b)  Price off offer

fasa da¢q &t f77 qhtnl 1 GHART :
(a) g% T 1 T

(b) HeI H HH F G

16. Explain the following characteristics of Joint Stock Company : 4
(a) Artificial person
(b) Separate Legal Entity
T St ket i e fasrareti w wmemsT
(a) FOM AR
(b) A Auifew SAfeEa

17. Explain granting of (a) Loans and (b) Advances by Commercial Banks 4
TR Sl gR1 USM foht ST a1 (a) 0T TS (b) TRM =l H=sT
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18. Explain the following mail services provided by Post Offices : 4
(a) Speed Post (b) Registered Post

T R R SUAS] {8 M drel (11 Teh qaredl o1 THesEy
(a) wiedw (b) WE=E e

19. A buyer can seek compensation from the manufacturer if the product supplied to him/ 4
her is defective provided he/she takes care of few things after buying. What are
they ?

T shal FToTERal § &faqfd 1 7 L 9ehd1 § Al 3/ SMYfd i T8 % I € e a%]
% T o TTAN 3H B AMS 1 S WA SR S 1§ 2 Ieeid it |

20. Explain ‘wage employment” and “self employment” as career avenues. 4

STifarent & o & ®9 § iyl T WRSTR 1 IR |

21. What is meant by ‘social objectives of business” ? Explain any two social objectives of 5
business.

‘I & TS Sevd | W ifvug R 7 aeEd o fR=l < At Sevdl ol HHEsy |

22. What is meant by a Multinational Company ? State any four advantages of 5
Multinational Company.

TSI HUT BT T 21ed § 7 T S o fREl AR ol 1 Seei@ i |

23. State in brief any five functions of a wholesaler. 5

ofieh Tarshdl & 1S 919 ] o1 G&T § o0fF hiferg |

24. Give the meaning of departmental store. Explain any four of its advantages. 5

faurg Wer =1 31 IaEt | sHh fhl IR ATl i THET |

25. State in brief the need for consumer protection giving any five points. 5

HTE e forvg oY SIS TRETUT T TaTT Rl FT W& H UM FHifeT |

26. Explain the need for warehousing stating any four reasons. 6

TSR 1 SETIHAT i iz IR HRUT <h ST |
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27. Explain the following principles of insurance : 6
(a) Utmost goodfaith
(b) Indemnity
(c) Subrogation

a1 & =1 fagr=al 1 99eET
(@) 9 He-fowamE
(b) efayfd

(c) FImET

28. Vikram, who is running a marketing business, wants to employ number of sales persons. 6
Explain any four qualities that a sales person should possess.

fashm <1 o T sha-fasha o1 AR X W@ 8, F© faskaskdisti w1 ffea & aear 81 =
forsharhatati ® &= 7707 ¥ =ife foR=dl 9R 1 AHemEy |

29. Explain in brief the following rights of consumers : 6
(a) Right to safety
(b) Right to choose
(c) Right to be informed
TR o 71 ATl 1 Harq § HH=Ey
(a) TR&M T ATFR
(b) == 1 AYRR
(c) H= T &1 AfRR

30. Veena who had been working as a Human Resource Manager in a company decides 6
to start her own business. What qualities she should possess to be a successful
entrepreneur ? Explain any four such qualities.

1 ST foF T AT | AE HH1EE Yo & U8 TR R §, 39N WY S Sadd TR HA
%1 O Tt B | U el STH T o oAU SHH SF-HIA 9 01 g =1feq | TH foh=l = ol
T U HifSIT |

-000-

o}

51/AS,/3-215-A ]



